
Our Mathematical Neighborhood
IMPORTANT FACTS:
Write the coordinate as (East/West, North/South).    8 blocks = 800 units = 1 mile
East = positive, West = negative; North = positive, South = negative
distance:
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midpoint:
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1.  Determine the coordinates of where you live.


EX 1:  Ace Tech is at 0 E/W and 5410 South  (0, -54)


EX 2:  Someone who lives on 78th and Cottage Grove (1000 E)  (10, -78)


EX 3:  Ms. Sniegowski lives at Belmont (3200 N) and Sacramento (3000 W)

I live at (___  _,    ___)



My partner lives at (___  _,    ___)
2.  Plot your coordinates and your partner’s coordinates on the map (classroom floor)
3.  Determine the distance and midpoint between your homes.

d = __________________________




m = _________________
4.  Calculate the number of miles between your homes.  8 blocks (800 units) is equal to 1 mile.

miles between our homes = ______________________
5.  Find a new partner who has already plotted the coordinates of their home.

I live at (___  _,    ___)



My partner lives at (___  _,    ___)
6.  Determine the distance and midpoint between your homes.

d = __________________________




m = _________________
7.  Calculate the number of miles between your homes.  8 blocks (800 units) is equal to 1 mile.

miles between our homes = ______________________
8.  Find a new partner who has already plotted the coordinates of their home.

I live at (___  _,    ___)



My partner lives at (___  _,    ___)
9.  Determine the distance and midpoint between your homes.

d = __________________________




m = _________________
10.  Calculate the number of miles between your homes.  8 blocks (800 units) is equal to 1 mile.

miles between our homes = ______________________
11.  Reflection:  Are the backyard distances different or the same as the street distances?  Why or why not?  Give an example of a 2 locations whose backyard and street distances are the same.  What does this tell you about traveling across a city, or a coordinate plane?   
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